S =
B )/
ol [] []
. Y-y s it (A) X28
| w I _ 7t
A — - ______|L______ | T
: T
—EF—
A ! _A y-)ys' ki (B) X1k
\+/
AbOVSiyhly b y-1y ikt
#HR A B C D LY 5k E F G H I

TDW250 1024 924 100 190 M8X150-2 35 35 35 200 1100
TDW300 1249 1149 100 254 M8X150-3 18 40 40 40 230 1210
TDW350 1443 1343 100 290 M8X150-3 45 50 50 270 1400
TDW400 850 750 100 326 M8X150-8 45 55 55 300 1590
TDW450 944 844 100 362 M8X150-10 50 60 60 340 1780
TDW500 1050 950 100 375 M8X150-10 65 70 70 410 | 2000
TDW6B00 1184 1084 100 450 M8X150-10 2 K—i8 70 85 85 480 | 2300
TDW700 1428 1328 100 575 M8X150-10 80 95 95 540 | 2770
TDW80O0 1605 1505 100 645 M8X150-10 90 110 110 610 | 3140
TDWS00 1816 1716 100 720 M8X150-12 95 120 120 680 | 3530
TDW1000 1995 1895 100 800 M8X150-12 105 135 135 750 | 4050
XPREBRBLCRGTV T, (mm)
XA by A-OMBRUKE. BREBICERVES,
X%, ARZEREISHROA. FEELZEET 3B AHVET, (H22, 10)

y-yysffatovysivhsy b (TDW250~1000)

BERIEFTLEKRINSXE




